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MAXWELL - BOLTZMANN
N=6 k 1 2 3 45 6 % 89 04
83 g/t 6.
U=6é 5 °
= ‘NJ " - .
\\/ :“((\)J’Nl %:) 3 ee| o .
MB | N.ll- ;4 © ° sec|o | o
1 . = B I O B
O [orfs ofnsfeee] sfone]e o fore]e=] o
\ K=1 /
?b) 3 WKD” B 10 40 180 45 X0 i@ 60 200 10 3
6l = = R =
- 5l ! 2l —> _2 < /3Bext0
13-3°
k =12345678390M N;
Gk 6|* o4 N6
o = 0,08 u-6t
4 25 0,206 0 =153
3 L Do 010 ss
2 B ol el 0,8%
A RIS i Rl 1,600
ARHAERE RS 2%
Wi @315 13180 40 270 k0 foo 216 136 28
k =123 45%¢38491un N;
gle - 4 0129 N=5
3 . ozis U 46
- 6,655 ﬂr‘?ﬂé
1 . ,' .-: 1,400 5‘)=3
0 . s i 2,660
45 % 60 (08 45
r=2 7mujd¢]t}m rx.r-nca_, /’P”J"IIMI&
nEl ) wenn valer pble

Nj

013
0,065
(,19
0,456
0410
1,640
280

19-04-2012



